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M ET#1 Al 32T AT REZE (B2 7[A]) — B[R fFTE~A—X]

(B {EH, %)
AT RATEREFEZE(I0A11BRE) (A) R{TEREEE (IRHRIEIEEE) (B) X{telgezE (EE) (C) C A ] © (B
WETA | 18 s | wErH | = | T | R 3| mETAT| B s | ETR | B 3t
& 6.9 0.9 1.8 6.9 0.9 1.8 6.9 0.9 1.8 100.0 100.0 100.0 100.0 100.0 100.0
& 234 0.8 24.2 23.0 0.8 23.8 29.5 0.8 30.3 126.1 100.0 125.2 128.3 100.0 127.3
152 0.0 0.0 0.0 0.0 0.0 0.0 1.8 0.0 1.8 100.0] 15,347.2 100.0f 15,347.2
SALET™H 30.2 0.0 30.3 30.1 0.0 30.2 30.3 0.0 30.3 100.3 100.0 100.0 100.7 100.0 100.3
2 04 10.3 10.7 04 10.3 10.7 0.3 10.3 10.6 715.0 100.0 99.1 15.0 100.0 99.1
ZEIWhH 1.1 0.0 1.1 1.1 0.0 1.1 6.6 0.0 6.6 600.0 600.0 600.0 600.0
=iamh 13.1 1.4 20.5 13.1 1.4 20.5 13.1 1.4 20.5 100.0 100.0 100.0 100.0 100.0 100.0
E[Rt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R /N1 39.5 2.7 38.2 35.9 2.7 38.2 51.7 2.7 944 145.6 100.0 142.4 145.6 100.0 142.4
pN 0] 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=BEd ) 1.0 04 1.4 0.1 04 0.5 0.1 04 0.5 10.0 100.0 35.7 100.0 100.0 100.0
LI o HT 0.1 1.5 1.6 0.1 1.5 1.6 1.6 1.5 3.1] 1,600.0 100.0 193.8] 1,600.0 100.0 193.8
¥ S HT 9.2 0.0 9.2 9.2 0.0 9.2 9.2 0.0 9.2 100.0 100.0 100.0 100.0
4 EHT 0.1 0.0 0.1 0.1 0.0 0.1 0.9 0.0 0.9 900.0 900.0 900.0 900.0
1| i T 0.0 0.0 0.0 0.0 0.0 0.0 1.4 0.0 1.4
A HT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
21| HT 14.7 0.0 14.8 14.7 0.0 14.8 30.8 0.0 30.9 209.5 100.0 208.8 209.5 100.0 208.8
rE = [EEMT 0.5 0.0 05 04 0.0 04 3.0 0.0 3.0 600.0 600.0 750.0 750.0
=X 136.1 241 160.2 134.6 241 158.8 187.1 24 .1 211.2 137.5 100.0 131.8 139.0 100.0 133.0
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T ETAT AR AT AEgR (B 7[E) —BE[EXEN—X]

(B4 {2, %)
=
A RATEREE(I0A 11 BIRH) (A) | R{TEREEEGRHZIEIES) (B) X+ ETRERE (C) YA =% S
mETR | R | | mEDR | R | B | Taoo | | | B |mER| R | |mETR| R |

& 7.9 1.2 9.0 7.9 1.2 9.0 7.9 1.2 9.0 100.0| 100.0 100.0) 100.0, 100.0 100.0
"EM 29.3 1.0 30.3 28.8 1.1 29.8 36.7 1.1 37.8] 1253] 110.0 1248| 1274 100.0 126.8
iIE&E™H 0.0 0.0 0.0 0.0 0.0 0.0 2.2 0.0 2.2 100.00 14,391.2 100.00 14,391.2
SALAT™ 37.5 0.0 37.5 37.4 0.0 37.4 37.5 0.0 37.6) 100.0, 100.0 100.3] 100.3| 100.0 100.5
& 0.5 13.7 14.2 0.5 13.7 14.2 0.4 13.7 14.1 80.0/ 100.0 99.3]  80.0| 100.0 99.3
ZE W™ 1.5 0.0 1.5 1.5 0.0 1.5 8.3 0.0 8.3 553.3 553.3] 553.3 553.3
=ia 16.1 9.9 26.0 16.1 9.9 26.0 16.1 9.9 26,0, 100.0| 100.0 100.0 100.0, 100.0 100.0
RIRT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CXIN=TT] 44.7 3.6 48.3 44.7 3.6 48.3 64.7 3.6 68.3] 1447 100.0 141.4] 1447 100.0 141.4
KU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B IEAT 1.4 0.5 1.9 0.1 0.5 0.6 0.1 0.5 0.6 7.1  100.0 31.6/ 100.0| 100.0 100.0
LI STHT 0.1 2.0 2.1 0.2 2.0 2.2 2.0 2.0 4.0 2,000.0{ 100.0 190.5| 1,000.0, 100.0 181.8
YN=Ti) 12.2 0.0 12.2 12.2 0.0 12.2 12.2 0.0 12.2]  100.0 100.0, 100.0 100.0
+ 4 SR HT 0.1 0.0 0.1 0.1 0.0 0.1 1.2 0.0 1.2| 1,200.0 1,200.0] 1,200.0 1,200.0
| FFHT 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 1.7
AT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
< BT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
% ) 1| HT 19.6 0.1 19.7 19.6 0.1 19.7 39.7 0.1 39.8| 202.6/ 100.0 202.00 202.6| 100.0 202.0
g = BEMT 0.6 0.0 0.6 0.6 0.0 0.6 3.8 0.0 3.8 633.3 633.3] 633.3 633.3
&5t 171.4 32.1 203.5 169.5 32.1 201.6] 234.7 32.1 266.8] 136.9| 100.0 131.1] 1385/ 100.0 132.3
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[H26]

ET# Al 3 T AT gERE (BB 7)) — B[ 3T ~—X]

(B {8F, %)

HETR 2, RITERFEZE(I0A11BIRE) (A) R {THEEEE (RIEREIESR) (B) R{TA[EEEE (E &) (C) O (A > Q) (B)

hETH | & | mEH [ B S| mEH | B | & | mEe] B mEA | B [ &

(=] 99.7 3.4 63.1 99.7 3.3 63.0 99.7 3.3 63.0f 100.0 97.1 998 100.0f 100.0 100.0
A%&Th 171.8 20.8 198.6 156.6 20.8 177.4 123.0 20.8 143.8 69.2 100.0 12.4 718.5 100.0 81.1
Ig&E™h 36.6 9.7 42.2 36.6 0.7 42.3 36.4 2.4 38.8 99.5 42.1 91.9 99.5 42.1 91.7
LA™ 89.6 11.1 96.7 84.8 10.5 95.4 84.8 10.5 95.4 99.1 94.6 98.7 100.0, 100.0 100.0
B HTh 6.9 40.0 46.9 1.0 40.0 47.0 2.5 40.0 45.5 719.7 100.0 97.0 718.6 100.0 96.8
ZEW™H 22.9 0.0 22.9 25.1 0.0 25.1 25.1 0.0 25.1 109.6 109.6 100.0 100.0
=iam 6.9 24.0 30.9 6.9 24.0 30.9 6.9 24.0 30.9 100.0/ 100.0 100.0f 100.0f 100.0 100.0
C I ] 0.1 0.0 0.1 0.1 0.0 0.1 0.1 0.0 0.1 100.0 100.0f 100.0 100.0
RN 137.9 19.1 157.1 144 .4 19.1 163.5 144.0 19.1 163.1 104.4 100.0 103.8 99.7 100.0 99.8
pN 0] 0.1 0.4 0.5 0.1 0.4 0.5 0.1 0.0 0.1 100.0 0.0 20.0 100.0 0.0 20.0
B T 12.7 62.9 15.7 11.9 62.9 74.8 11.9 62.9 74.8 93.7 100.0 98.8f 100.0f 100.0 100.0
LI STHT 21.6 99.7 7173 14.8 99.7 70.5 14.8 90.7 70.5 68.5| 100.0 91.2) 100.0f 100.0 100.0
¥ SHT 0.4 0.0 0.4 0.3 0.0 0.3 0.3 0.0 0.3 75.0 75.0 100.0 100.0
T4l 8.9 1.9 10.8 8.9 1.9 10.8 8.9 1.9 10.8 100.0 100.0 100.0 100.0 100.0 100.0
1| ET 12.3 0.0 12.3 11.9 0.0 11.9 10.0 0.0 10.0 81.3 81.3 84.0 84.0
RAHT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 100.0f 100.0 100.0
ST 0.2 0.0 0.2 0.2 0.0 0.2 0.2 0.0 0.2 100.0 100.0f 100.0 100.0
2L JI|HT 70.8 0.0 70.8 70.8 0.0 70.8 70.8 0.0 70.8 100.0 100.0 100.0 100.0 100.0 100.0
m = BEHT 31.9 9.0 36.9 31.9 2.0 36.9 31.9 2.0 36.9 100.0 100.0 100.0f 100.0f 100.0 100.0
B&t 693.2 250.1 943.3 671.9 249.4 921.3 634.4 245.7 880.0 91.5 98.2 93.3 94.4 98.5 95.5
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mETF A A AT RERE (BB 7[E]) —B[EXER—X]

(B4, %)

HE R | STRAE0ATIBRE) (A R{TEREELE (IRHRIETESR) (B) R AT4EEE (C) YA >5 B

mird | B &t h ET 44 = &t hird | B H st | B hirdt | B &t
L& 76.9 4.5 815 76.9 45 81.4 76.9 45 81.4| 1000/ 100.0 99.9| 100.0/ 100.0 100.0
"EM 216.9 27.1 243.9 198.7 27.1 2258  155.4 27.1 182.5 71.6| 100.0 74.8 78.2|  100.0 80.8
iIEgE™ 48.5 7.3 55.9 485 7.3 55.9 48.3 3.0 51.3 99.6 41.1 91.8 99.6 41.1 91.8
SALAT™ 104.0 14.8 118.8 103.1 14.0 117.1]  103.1 14.0 117.1 99.1 94.6 98.6) 100.0; 100.0 100.0
& B 9.2 53.3 62.5 9.2 53.3 62.5 7.1 53.3 60.5 77.2|  100.0 96.8 77.2|  100.0 96.8
ZEWH 30.5 0.0 30.5 33.5 0.0 33.5 33.5 0.0 335 109.8 109.8]  100.0 100.0
=8 9.3 32.0 41.3 9.3 32.0 41.3 9.3 32.0 41.3) 100.0| 100.0 100.0] 100.0] 100.0 100.0
ERm 0.1 0.0 0.1 0.1 0.0 0.1 0.1 0.0 0.1) 1000 100.0] 100.0 100.0
CXIN=T] 172.3 25.0 197.3 170.5 25.0 1955  169.9 25.0 195.0 98.6| 100.0 98.8 99.6| 100.0 99.7
K th 0.1 0.6 0.7 0.1 0.6 0.7 0.1 0.0 0.1 1000 0.0 14.3]  100.0 0.0 14.3
B IEAT 18.4 83.9 102.2 17.0 83.9 100.9 17.0 83.9 100.9 92.4|  100.0 98.7] 100.0; 100.0 100.0
LI ST HT 28.2 74.1 102.3 19.1 74.1 93.2 19.1 74.1 93.2 67.7| 100.0 91.1] 100.0 100.0 100.0
N=Ti) 0.5 0.0 0.5 0.5 0.0 0.5 0.5 0.0 05 1000 100.0; 100.0 100.0
+ 4 JEHT 12.3 2.6 14.8 12.3 2.6 14.8 12.3 2.6 148| 1000/ 100.0 100.0] 100.0] 100.0 100.0
| ¥ ET 16.4 0.0 16.4 15.8 0.0 15.8 13.3 0.0 13.3 81.1 81.1 84.2 84.2
BT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 1000 100.0] 100.0 100.0
< BT 0.3 0.0 0.3 0.2 0.0 0.2 0.2 0.0 0.2 66.7 66.7) 100.0 100.0
% ) 1| ET 94.1 0.1 94.2 94.1 0.1 94.2 94.1 0.1 942| 100.0 100.0 1000, 100.0| 100.0 100.0
g = BEMT 4.4 6.5 47.9 41.4 6.5 47.9 41.4 6.5 4790 100.0| 100.0 1000, 100.0| 100.0 100.0
&5t 879.3| 3317 1211.0 850.3 3309| 1,181.2) 801.7| 3260 11,1278 91.2 98.3 93.1 94.3 98.5 95.5
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HETH B3 (T el gEZE (E 7)) —E [ {[FTE~A—X]

(BAI:{EH, %)

wETAt g | SFHEG0ANBIRE) (A) | R HHEGRERIEESR) (B) X RIEE4E (EE) (C) AT ki O
s | '] | &t mes | ] 5t | ThETs# | B &t mEs | B B mEs | B &t
(=g 0.0 0.0 0.0
HE™ 101.4 0.0 101.4
IRE™ 0.0 0.0 0.0
LA™ 38.6 0.0 38.6
B HLh 0.0 0.0 0.0
ZEEH 0.0 0.0 0.0
=] 0.0 0.0 0.0
EIRTH 0.0 0.0 0.0
RS 0.0 0.0 0.0
y N a1l 0.0 0.0 0.0
B IZHT 0.0 0.0 0.0
|1 STHT 0.0 0.0 0.0
N 0.0 0.0 0.0
4 T 0.0 0.0 0.0
| i BT 0.0 0.0 0.0
AAHT 0.0 0.0 0.0
3< B HT 0.0 0.0 0.0
% )| T 0.0 0.0 0.0
= [REHT 6.0 0.0 6.0
=X / / 146.0 0.0 146.0 /
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mETF A A AT RERE (BB 7[E]) —B[EXER—X]

(BEA:EH, %)

HEA g | STREE0A1BIRE) (A) X B s 4E (IR HH %S IE5E) (B) X T BEEE(C) ST O
mETs | B &t BT 4% = &t mEs | B H mEs | B mETs | B &t
isTh 0.0 0.0 0.0
& 115.9 0.0 115.9
IRE™ 0.0 0.0 0.0
SAAT 44.1 0.0 44.1
2 Hh 0.0 0.0 0.0
ZEW™ 0.0 0.0 0.0
aiA 0.0 0.0 0.0
RIRTH 0.0 0.0 0.0
RIS 0.0 0.0 0.0
yN 0] 0.0 0.0 0.0
E IEfT 0.0 0.0 0.0
LI ST HT 0.0 0.0 0.0
i S HT 0.0 0.0 0.0
T4 T 0.0 0.0 0.0
| i BT 0.0 0.0 0.0
AAHET 0.0 0.0 0.0
EHH 0.0 0.0 0.0
% )1 BT 0.0 0.0 0.0
= BT 6.9 0.0 6.9
a5t 166.9 0.0 166.9
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n

M ET#1 Al 32T AT REZE (B2 7[A]) — B[R fFTE~A—X]

(B4 {2, %)

A ZATEAEEZE (108 11 BIRH) (A) R (T EREERE (IR H B IESE) (B) X T BesE (EE) (C) ST >5 O

mETR | R | B | mEtR | B | B[N R | # | WE| R mETH | & |
=] 66.5 4.3 70.8 66.5 4.2 70.8 66.5 4.2 70.8) 100.0 97.7 1000, 100.0 100.0 100.0
el 201.2 21.6 222.8 179.6 21.6 201.2) 2539 21.6 2755 126.2| 100.0 12370 141.4| 1000 136.9
IBEm 36.6 5.7 42.2 36.6 5.7 42.3 38.2 2.4 406 104.4 42.1 96.2) 104.4 42.1 96.0
LA™ 115.8 11.2 127.0 115.0 10.6 1255 1537 10.6 164.3] 1327 94.6 129.4| 133.7| 100.0 130.9
B HTh 7.3 50.3 57.6 7.3 50.3 57.6 5.8 50.3 56.1 795 100.0 97.4 795 100.0 97.4
ZEHE™ 24.0 0.0 24.0 26.3 0.0 26.3 31.7 0.0 31.7| 1321 132.1] 1205 1205
y=pratii] 20.0 31.4 51.4 20.0 31.4 51.4 20.0 31.4 514 1000/  100.0 1000, 100.0 100.0 100.0
ERmh 0.1 0.0 0.1 0.1 0.0 0.1 0.1 0.0 0.1 100.0 100.0,  100.0 100.0
HIE™ 173.4 21.8 195.2 179.9 21.8 201.7)  195.7 21.8 2175 1129/ 100.0 111.4) 108.8| 100.0 107.8
K 0.1 0.4 0.5 0.1 0.4 0.5 0.1 0.0 0.1 100.0 0.0 200 100.0 0.0 20.0
BT 13.8 63.3 77.1 11.9 63.3 75.3 11.9 63.3 75.3 86.2| 100.0 97.7] 100.0; 100.0 100.0
(LI STHT 21.7 57.2 78.8 14.9 57.2 72.1 16.4 57.2 73.6 756/ 100.0 934| 110.1| 100.0 102.1
N=Ti) 9.5 0.0 9.5 9.5 0.0 9.5 9.5 0.0 95| 100.0 100.0,  100.0 100.0
+ 4 EHT 9.0 1.9 10.9 9.0 1.9 10.9 9.8 1.9 11.8] 108.9] 100.0 108.3] 108.9| 100.0 108.3
| i BT 12.3 0.0 12.3 11.9 0.0 11.9 11.4 0.0 11.4 92.7 92.7 95.8 95.8
B HET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00  100.0 100.0,  100.0 100.0
< BT 0.2 0.0 0.2 0.2 0.0 0.2 0.2 0.0 02  100.0 100.0,  100.0 100.0
2 )| BT 85.5 0.1 85.6 85.5 0.1 85.6) 101.6 0.1 101.7) 1188/ 100.0 118.8) 118.8 100.0 118.8
g = [EHT 32.4 5.0 37.4 32.3 5.0 37.3 40.9 5.0 459| 1262/ 100.0 122.7) 126.6 100.0 123.1
=E 829.3| 2742 11,1035 806.5 2735/ 1,080.1] 9675  269.8) 1,237.3] 116.7 98.4 112.1)  120.0 98.6 114.6
GEDNImBNEBIZKYFEE—BLIEWNGENH D,
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T ETAT AR AT AEgR (B 7[E) —BE[EXEN—X]

(B2, %)
=
it RITHREFEFE(0A11BRE) (A) RTHEF(RHRIEESR) (B) R {FEIHERE (C) C (A - 0 (®)
meTR | R | | wER | R | & | TN | B | H | mER| R mETR | R | B

(= 84.8 9.7 90.5 84.8 9.6 90.4 84.8 9.6 90.4) 100.0 98.2 999, 100.0; 1000 100.0
BETH 246.1 28.1 274.2 227.5 28.2 255.6 308.0 28.2 336.2) 125.2| 100.4 1226 1354 100.0 131.5
IBE™ 48.5 1.3 99.9 48.9 1.3 95.9 90.5 3.0 93.6] 104.1 41.1 959, 1041 41.1 95.9
SAlAT™ 141.5 14.9 156.4 140.5 14.1 194.5 184.8 14.1 198.8] 130.6 94.6 127.1 131.5| 100.0 128.7
2 Huh 9.6 67.1 16.7 9.6 67.1 16.7 1.9 67.1 14.6 18.1 100.0 97.3 18.1 100.0 97.3
ZEWH 32.0 0.0 32.0 35.0 0.0 35.0 41.8 0.0 41.8] 130.6 130.6] 1194 119.4
a8 254 41.9 67.3 25.4 41.9 67.3 25.4 41.9 673 1000 1000 100.0f 100.0f 100.0 100.0
EIR™ 0.1 0.0 0.1 0.1 0.0 0.1 0.1 0.0 0.1 100.0 100.0f 100.0 100.0
RINE™ 217.0 28.6 245.6 215.2 28.6 243.8 234.6 28.6 263.3] 108.1 100.0 107.2) 109.0f 100.0 108.0
PN ] 0.1 0.6 0.7 0.1 0.6 0.7 0.1 0.0 0.1 100.0 0.0 14.3] 100.0 0.0 14.3
B IEHT 19.8 84.4 104.1 17.1 84.4 101.5 17.1 84.4 101.5 86.4| 100.0 97.5) 100.0f 1000 100.0
Lo T 28.3 76.1 104.4 19.3 76.1 95.4 21.1 76.1 97.2 746 100.0 93.1 109.3] 1000 101.9
i SHT 12.7 0.0 12.7 12.7 0.0 12.7 12.7 0.0 12.7) 1000 100.0f 100.0 100.0
£ 4T 12.4 2.6 14.9 124 2.6 14.9 13.4 2.6 16.0f 108.1 100.0 107.4] 108.1 100.0 107.4
| i HT 16.4 0.0 16.4 15.8 0.0 15.8 12.0 0.0 15.0 91.5 91.5 94.9 94.9
AAHET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0f 100.0 100.0f 100.0 100.0
EEHHT 0.3 0.0 0.3 0.2 0.0 0.2 0.2 0.0 0.2 66.7 66.7) 100.0 100.0
21| T 113.7 0.1 113.8 113.7 0.1 113.8 133.9 0.1 1340, 1178 100.0 117.8) 1178 100.0 117.8
= [EMT 42.0 6.9 48.5 42.0 6.9 48.9 92.1 6.9 98.6) 1240/ 1000 120.8] 1240 100.0 120.8
=X 1,050.6 363.8 1,414.5] 1,019.8 363.0f 1,382.8] 1,203.3 358.2] 1,561.4] 1145 98.9 1104} 1180 98.7 112.9
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